Worked example Your turn

Simplify: Simplify:
51 ,1 sin? 3x + cos? 3x

sin §y+cos 3y )

cos2(30 — 10) + sin?(36 — 10)




Worked example Your turn

3 _ ] _ 2
Prove that 1 — tani;‘;s 0 _ sinZ @ Prove that 1 — tan 6 sin @ cos @ = cos“ 6

Proof




Worked example Your turn

1 1-2 cos? 0 1 _ 1
— = Prov th tt =
Prove that tan 6 = <500 ove that tan6 + tan @ _ sin @ cos @

Proof




Worked example Your turn

Simplify 10 — 10 cos? 8 Simplify 5 — 5sin? 8

5cos? 6




Worked example Your turn
Simplify: Simplify:
cos 46 sin 26
V1 — sin% 46 V1 — sin? 26

tan 260



Worked example Your turn

Prove that Prove that

sin49—cos49_1 1 cos46—sin4¢9_1 ey
- tan?6 cos2 6 B an

sinZ @
Proof




Worked example Your turn

Prove that Prove that
sin x tanxcosx .
tan.x =1 V1 —cos2x
V1 —sin? x

Proof




Worked example Your turn

Prove that Prove that

1 1
= 1 tan? 60 =

= - 1
tan20 sinZ6

cos? 6

Proof




Worked example Your turn

Giventhat p = 4 cosf8 and g = 5sin 6, show | Giventhatp = 3cos8 and g = 2sin 8, show
that 25p2 + 16q2 = 400 that 4p% + 9g% = 36

Shown




